S1000 RR-SSECGP 2019 and up

OEM

4 Bracket
(87 N
A I
7 . 4

13

Interchangeable with
current mesh flange.

/

12

Nr4, 12
10

bie] Nr.9

25

biit] Nr.11

Not Certified www.bos-exhausts.company /BOS

EXHALSTS



S$1000 RR - SSEC GP

2019 and up

Pos Qty Part No.

1 1 900010
850002
2 1 750060
3 1 750004
4 2 14148
5 1 14055
6 1 14060
7 1 Original
8 1 14059
9 1 300053
10 1 300032
11 1 64576
12 4 300023
13 1 450042
14 1 300006

Description

Muffler SSEC GP Titanium
Mounting Parts:
Link Pipe

Mounting Bracket
M6x16 Flange Screw Torx
Locknut M8
Washer Large M8
Flange BMW
Washer M8

Bolt M8x40

Pull Spring 52 mm.
Clamp 63

Bolt M5x8 Torx
Flange Open
Spring Pull Tool

Ordernumber

BM10S05 - SEGP - Titanium

Weight:
Stock: 2,7 kg
Bos: 1,9kg

Noiselevel: @ 6750 rpm

Stock:  Specified 98,0 dB(A)
Measured 96,5 dB(A)
Bos: Measured 98,5 dB(A)

Performance (crankshaft)

Stock: 201,8 Hp/ 13352 rpm

Bos: 202,9 Hp / 13450 rpm

Max. Hpincr.: + 1,5 Hp / 12186 rpm
Max Nm incr.: + 0,8 Nm /4521 rpm

Tips

In order to avoid smudges and fingerprints
burning into the surface it is imperative to clean
the exhaust before starting the engine, burnt in
stains are very difficult to remove.

After 300 miles or 500 kms. check all nuts and
bolts and retighten if necessary.

mwww.bos-exhausts.com

MBOS

EXHALSTS



